B Math HL 2

Formal Calculus and Mathematical Induction Review ANSWERS
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c. Suggest an expression for /") (x), neZ*, and prove your conjecture using mathematical induction.
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So P(rH—l) is true. P(__L) is true. If P(n) is true then P(n+1) is true. Hence P(n) is true for all n € Z g
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8. (13G#3) From sin 2x = 2sin x cos x we observe that sin xcosx = -
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ii. Prove your generalization using mathematical induction.
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so P(n+1) istrue, P(l_) is true. If P(n) istrue then P(n+1) is true. Hence P(n) is true forall n € Z
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So P(n+ 1) is true.

P(3 )istrue. If P(n) istrue then P(n+1) istrue. Hence P(n) is true forall n €& l; n>2Z.



